AGREEMENT OF SUBJECT AND PREDICATE
Test 2

21. All of it... lost three days ago.

A were B was

22. All of them

A have left B has left

23. Ten dollars for a cup of coffee.... too much.

A are Bis

24. Most of it... pure magic.

A are Bis

25. Some of this information... wrong.
Ais B are

26. Someone ... that it is easy.

A thinks B think

27. None of them ... yet.
A have returnedB has returned
28. A number of English teachers ... at the meeting
A were present B was present
29. Last year a large number of rare books... by auction.
A was sold B were sold
30. The majority of the students to take part in the competition.
A want B wants
Test 3
31. There are ... of reasons why it happened.
A numbers C number
B the number D a number

32. ... ran away.

A The other C Others

B The others D Other

33. ...of voters are against the adoption of the new rules.
A majority C majorities

B the majority D a majority
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